A
et
Ll
el ]
8}
H-
X

Bty i 3
TNk =7 )Y -
B DEERESERR w v vvvvmrrannnrsannesannssannnssannesnnnns

EE%O)*;]‘*’_I, ..............................................
EREIOLBZDIEZERLS wrrrrrrrrrrrsrsaarrnnnnnns
SR FAMDIESERS s s i i
y SaIVFS Y[ A==3 % R T
RN EEUREMDIEZFRLS s saaannnnas
HAHRERIEREAES HERDIESFMS »rrrrrerrrreasnnreaannns

5:/7)ng|§7§—$5§}"-€§£ .................................

7“[) —ZO)CF#'TE ............................................

B2 AR

BB E FEYSE svrrrrrnrnnsan s sa s sn s an s
ARTULRE BEAEE RS rrrrrrrrrrra s
S FaTEMZE IR ES rrr st a s
IIUIONE IZTFATREEMZ - PERER v
ATFULRE S FFaFEE S MR TG
AFULRE JSUUME ITFFaTEMB - INEEEZ e
fT&
od g = < I L L L L LR R T TR P

A1

A2

A3

A3
A3
A3
A4
A4
A4

A5

A6

B2
B 14

B 22
B 26
B 30
B 34

Z 1

BMInEERTD
CONFODTDARABICONTIE, HRICHMT 5. HEOMIPOEHRESFESRUICERIIBNHDET,
i Y OT OEAEICIIHBLVDTRZIANT LA RERBICEIDIESICONTIE, EFEZENDNRTT,

STO

CAT.NO. 08092019



R E STO’

B BHZTUESOER

o0 : - #8318 Standard YEEEMR  Precision grade
SS F 60 00 2RS NR GC3 V2 P6 -
Chinese Standard GB PO P6 P5 P4 p2
BARIRE
——> BESHEES FR5 PO JSOMR (M) Japanese Standard IS O ik 6 1 5 1k 4 R 2 #R
P6 S JIS 6 R p—
. A V4 g\;
o e American Standard  ~\NS! ABECH1 ABEC3 ABEC5 ABECT ABEC9
P4 2 JIS 4 R
P2 :JUS2# IREEE
Germany Standard DIN PO P6 P5 P4 P2

— IREIFMECS W EERT RER
Vi EERLDE L. V2 KDIEL)
V2 I E—5—H
V3 I EBS
V4 fBIEER

ot

ESRRIVOLMZMOIEERS (EEMKS)

L—» NEPI=FEES SIYP) e STPFaP  INEEES
Ct 1 <C2 MC1 :O~5um TN . - s
B 18 N, 2~5um 1818 o {E=R%D Chemical Composition 9%
MmET  ONTEF (BEIZE) MC3 :5~10um Country | Standard Symbols C Si Mn P S Cr Mo
C3 . >CN MC4 :8~13um PE
ca  >C3 MC5 :13~20 um chin, | GBT 18254 | GCr15  0.95~1.05 0.15~0.35|0.25~0.45|0.025 LT | 0.025 LT |1.40~1.65 0.10LLF
C5 :>C4 MC6 :20~28 um
_ N BA JIS G 4805 SUJ 2 0.95~1.10/0.15~0.35| 0.50XF [0.025AF | 0.025 0 F |1.30~1.60| 0.08 AT
—> HLBIRIASECS N @B Japan
NR : #®iE LRI tE

GB T 18254 | GCr 15SiMn |0.95~1.05|0.45~0.75|0.95~1.25|0.025 XF | 0.025 AF | 1.40~1.65| 0.01 AF

China
L——» I— )L+ Y—)UREEE Z @ FBEFEREER RS I AEIAY-IL
27 : MBREREEIR  2RS 1 @BILAY - J?pj(n JIS G 4805 SUJ 3 0.95~1.10/0.40~0.70 | 0.90~1.15|0.025 A F | 0.025 LF | 0.90~1.20| 0.08 AT
— AREBS 10 A% 1Tmm 9 . AR Omm
00 : RE10mm 06 : RE 30mm (i:: GBT18254 | GCr 18 Mo |0.95~1.05|0.20~0.40|0.25~0.40|0.025XF | 0.020 XAF | 1.65~1.95/0.15~0.25
01 : AE 12mm 40 : AE 200mm
- p BA JIS G 4805 SUJ 4 0.95~1.10/0.15~0.35| 0.50LF |0.025F | 0.025F |1.30~1.60/0.10~0.25
— HZRIES 68 _ Japan
: D BHRERMS
63 % \ \ \
USA ASTM A 295 52100 0.98~1.10{0.15~0.35|0.25~0.45 | 0.025 IXF | 0.025 XF |1.30~1.60| 0.10 XF
— NRIEIESCS FOSYIM
——- MBES AR REAUDLGSE (RE ERMZAEEEAOLENS (TEMRS)
SS AT VUM
185 0o =R Chemical Composition %
Country Standard Symbols C Si Mn p s Cr Mo
% N \ N N
USA AlSI M 50 0.77~0.85| 0.25BF | 0.35XF |0.015F | 0.015AF |3.75~4.25|4.00~4.50

A2 A3



SIyT1 & = —
NTAURN —— $$ 4 ®
B B STO
RATFULREDILERS (EE/KS) B SU7IVAMISEEEEE
= 1848 no {EZ D Chemical Composition % g = Clearance {EFH2%{% Operating condition
Country Standard Symbols 5 .
© <l LA 3 S cr - c2 ® Wi - AWHICTZFITDICT B, REOSEER T BEE,
hE N N N N N N \ .
Chlna GB 3086 9 Cr 18 MO 090 100 080 J//{T 080 L/{T 0035 J//{T 0030 L/{T 17 19 075 L/{—F CN . _HQBGE{ﬁﬁH%#F\ P:F\\JP)I/EEIH%E\ W@ﬁlgbﬁb‘t‘; L/g @ ‘Et‘&)ﬁ\ 9}\@@(3
8& (BBIEF) FEHED, PIEROERDIZS,
Japan JIS G 4303 SUS440C | 0.95~1.20 | 1.00XF | 1.00BXF | 0.040LF | 0.030XF | 16~18 | 0.75ATF
c3 c4 OS5 @ EEFVFHEBGEEER[ L. LOULADKEL)., BDEHHFDIKREL., BEER
U*SE;'\ AlS| 440C | 0.95~1.20 | 1.00F | 1.00 &F | 0.040IXF | 0.0308F | 16~18 | 0.75XF EASECERIES.
(?;ili GB/T 1220 9Cr18 0.90~1.00 | 0.80OXF | 0.BOLLT | 0.040UF | 0.030AF | 17~19 ED
J?p?i JSG4303 | SUS440C | 0.60~0.75 | 1.00XF | 1.00XF | 0.040 XAF | 0.030AF | 16~18 5RER
?;E&I] GB/T 1220 3Cr13 0.26~0.35 | 1.00BLF | 1.00XF | 0.040XF | 0.030LF | 12~14 5RE0
Jlaapﬁ JIS G 4303 SUS 420 0.26~0.40 | 1.004F | 1.00BLF | 0.040UF | 0.030XF | 12~14 BRE0

REFAMRSIVRRBOLLZERS (EERD)

X5 1815 = {E=B%5 Chemical Composition %
Classification Country Standard Symbols C Si M P s
08 F
¢I, GBT 13237 0.05~0.11 | 0.03XF | 0.25~0.50 | 0.030 XF | 0.030 UAF
HBIREAMR China SPCC
Stees'tfi*;efe;a”d oy | USGEI4 sPcC | 0.12UF - 0.50 4F | 0.040 LIF | 0.045 LUF
apan

JIS G 3311 S50CM | 0.47~0.53 | 0.15~0.35 | 0.60~0.90 | 0.030 XF | 0.035 XF

PE

EHIR=AEREN China GB T 6478 ML 25 0.22~0.29 0.20 I'F 0.30~0.61 | 0.035LF | 0.035UF
Carbon steel
for ax
machined cages Japan JIS G 4051 S25C 0.22~0.28 | 0.15~0.35 | 0.30~0.60 | 0.030 AF | 0.035AF

LAIRERFBFAT NEFDILFERS

1845 5o {E= 6% Chemical Composition 9%
Country Standard Symbols Cu Zn Mn Fe Al Sn Ni Pb Si
=P JISH5102 | HBsC 1 55.0 0k | %%EB | 1.5BF |0.5~1.5|0.5~1.5|1.0F | 0.10XF | 0.4 LF | 0.1 AF
Japan JISH3250 | C6782 | 56.0~60.5| 3%&B | 0.5~2.5/0.1~1.0(0.2~2.0 - - 0.5UF -

A4 AbS



NITEIN

i == -

A6

B 52

B J)—AD%EHE

s 5458 | @R
AX—=7— Eix By (O (25 CHs) Working ) =5
Company Brands P Consistency Temperatures Remarks
at 25°C Range
Alvania RL2 265~ 310
185 -30~ 120 N ') —
Alvania RL3 220 ~ 250 NFBD) =2
General Purpose Grease
Alvania EP2 185 265 ~ 295 -20~ 110
Shell Alvania RA 180 250 ~ 275 -40 ~ 120 S
Aero Shell 7 260 288 73~ 120 For Low Temperature
Dolium R 236 265 ~ 295 -20 ~ 150 SRR
For High Temperature
Andok C 260 190 ~ 210 -20~120 WAT —2
Andok 260 200 204 ~ 260 -30 ~ 150 General Purpose Grease
Esso 2R, EREM.
MR M
Beacon 325 190 255 ~ 280 -54 ~ 120 For High Speed,
Low Temperature,
Corrosion resistance
M2k, MEEME
Chevron SRI-2 243 255 ~ 280 -30 ~ 150 Water Resistance,
Corrosion resistance
Isoflex LDS18 ERER
NOK Special A 190 g ~ 295 -0~ 120 For Low Temperature
Kluber . _—
lsoflex NBU15 250 280 -30 ~ 120 NEZT =2
General Purpose Grease
NREERHEA
Multemp SRL 190 250 -50 ~ 150 For Wide
Temperature Range
Kyodo & RILD, (EBER
Yushi Multemp PS2 195 275 -50 ~ 130 For Low Torque,
Low Temperature
Raremax super 255 260 -40 ~ 180 EEE%
For High Temperature
Jinzhi Hangu 2 198 265 ~ 295 -20 ~ 120 NRZT =2

General Purpose Grease

UgE) BxR:JU-ADRFMETIDIFBORE. (5B

STO



NITEIN

= EEEH]%

ER|FEEEHZ
RZE 10 ~ 20 mm

B b
r P I
Cr o e I o ;
r
D| 4——1d . —— .t
o O O
OPEN Y74 2RS NR
FETE () HUES
Boundary Dimensions Bearing Numbers
RE S E 1 EHY EETONE BDIE a)eis — LR —ILF
d D B r (min) a b Open Shielded Sealed
10 15 4 0.1 - - 6700 ~ -
19 5 0.3 - - 6800 77 2RS
22 6 0.3 1.05 0.80 6900 Y4 2RS
26 8 0.3 = = 6000 YA 2RS
30 9 0.6 2.06 1.35 6200 YA 2RS
35 11 0.6 2.06 1.35 6300 YA 2RS
12 18 4 0.2 = = 6701 = -
21 5 0.3 = = 6801 Y4 2RS
24 6 0.3 1.05 0.80 6901 Y4 2RS
28 8 0.3 = = 6001 Y4 2RS
32 10 0.6 2.06 1.35 6201 7 2RS
37 12 1.0 2.06 1.35 6301 YA 2RS
15 21 4 0.2 = - 6702 - -
24 5 0.3 - - 6802 Y4 2RS
28 7 0.3 1.30 0.95 6902 Y4 2RS
32 9 0.3 2.06 1.35 6002 Y4 2RS
35 11 0.6 2.06 1.35 6202 Y4 2RS
42 13 1.0 2.06 1.35 6302 2z 2RS
17 23 4 0.2 = = 6703 - -
26 5 0.3 = = 6803 Y4 2RS
30 7 0.3 1.30 0.95 6903 Y4 2RS
35 10 0.3 2.06 1.35 6003 Y4 2RS
40 12 0.6 2.06 1.35 6203 Y4 2RS
47 14 1.0 2.46 1.35 6303 YA 2RS
62 17 1.1 = = 6403 7 2RS
20 27 4 0.2 - - 6704 - -
32 7 0.3 1.30 0.95 6804 Y4 2RS
37 9 0.3 1.70 0.95 6904 Y4 2RS
42 12 0.6 2.06 1.35 6004 Y4 2RS
47 14 1.0 2.46 1.35 6204 Y4 2RS
52 15 1.1 2.46 1.35 6304 YA 2RS
72 19 1.1 - - 6404 2z 2RS

B2

AR EERE (rom) ERERETE o =
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE eight
With Snap Ring Grease Oil Cr Cor (ke)
- - - 0.80 0.39 0.002
- 33000 40000 1.83 0.93 0.005
NR 32000 38000 2.70 1.27 0.009
NR 30000 36000 4.55 1.96 0.019
NR 25000 30000 5.10 2.39 0.030
NR 23000 27000 8.20 3.50 0.054
= = = 0.91 0.53 0.002
- 32000 38000 1.92 1.04 0.006
NR 31000 36000 2.89 1.46 0.011
NR 29000 33000 5.10 2.39 0.021
NR 23000 28000 6.80 3.05 0.036
NR 21000 25000 9.70 4.20 0.059
- = - 0.95 0.59 0.003
- 28000 32000 2.08 1.26 0.007
NR 27000 31000 4.10 2.06 0.015
NR 25000 29000 5.60 2.84 0.030
NR 20000 25000 7.75 3.60 0.046
NR 19000 22000 11.40 5.45 0.082
- = = 0.96 0.61 0.003
- 25000 30000 2.81 1.72 0.008
NR 25000 29000 4.65 2.58 0.018
NR 23000 26000 6.80 3.35 0.039
NR 18000 22000 9.60 4.60 0.065
NR 16000 19000 13.50 6.55 0.113
= = = = = 0.270
- - - 1.03 0.72 0.005
NR 23000 28000 4.00 2.47 0.015
NR 20000 24000 6.40 3.70 0.036
NR 18000 20000 9.40 5.05 0.069
NR 15000 18000 12.80 6.65 0.107
NR 14000 17500 15.90 7.90 0.142
- - - - - 0.400

STO

B3



NITEIN

s B 52

i == -

ER|FEEEHZ
R#E 22 ~ 40 mm

B b
r — e
QX Y L@l QX
r
D| +——}d e T e
Eon O O
OPEN Y4 2RS NR
EBTk ) RUES
Boundary Dimensions mm Bearing Numbers
RNE VAN ES & EEY BETOIE  BOE Fa)eics —ILRT o—ILR
d D B r (min) a b Open Shielded Sealed
22 44 12 0.6 2.06 1.35 60/22 Y4 2RS
50 14 1.0 2.46 1.35 62/22 Y4 2RS
56 16 1.1 2.46 1.35 63/22 77 2RS
25 32 4 0.2 = & 6705 . -
37 7 0.3 1.30 0.95 6805 77 2RS
42 9 0.3 1.70 0.95 6905 77 2RS
47 12 0.6 2.06 1.35 6005 77 2RS
52 15 1.0 2.46 1.35 6205 Y4 2RS
62 17 1.1 3.28 1.90 6305 77 2RS
80 21 1.5 = = 6405 77 2RS
28 52 12 0.6 2.06 1.35 60/28 Y4 2RS
58 16 1.0 2.46 1.35 62/28 77 2RS
68 18 1.1 3.28 1.90 63/28 Y4 2RS
30 37 4 0.2 = = 6706 - -
42 7 0.3 1.30 0.95 6806 77 2RS
47 9 0.3 1.70 0.95 6906 77 2RS
55 13 1.0 2.08 1.35 6006 77 2RS
62 16 1.0 3.28 1.90 6206 77 2RS
72 19 1.1 3.28 1.90 6306 77 2RS
90 23 1.5 = = 6406 77 2RS
32 58 13 1.0 2.08 1.35 60/32 Y4 2RS
65 17 1.0 3.28 1.90 62/32 Y4 2RS
75 20 1.1 3.28 1.90 63/32 77 2RS
35 44 5 0.2 = = 6707 - =
47 7 0.3 1.30 0.95 6807 77 2RS
55 10 0.3 1.70 0.95 6907 77 2RS
62 14 1.0 2.08 1.90 6007 77 2RS
72 17 1.1 3.28 1.90 6207 77 2RS
80 21 1.5 3.28 1.90 6307 77 2RS
100 25 1.5 = = 6407 77 2RS
40 52 7 0.3 1.30 0.95 6808 77 2RS

FEREEH (rom) EXERTE o =
Limiting Speeds Basic Load Ratings )
oW | TU—REE EEE i E HEE etght
With Snap Ring Grease Oil Cr Cor (ke)
NR 17000 20000 9.40 5.05 0.074
NR 14000 17000 12.90 6.80 0.117
NR 13000 15000 18.40 9.25 0.176
- = = 1.09 0.83 0.005
NR 18000 23000 4.30 2.95 0.020
NR 17000 21000 7.05 4.55 0.042
NR 16000 19000 10.10 5.85 0.080
NR 13000 16000 14.00 7.85 0.125
NR 12000 14000 21.20 10.90 0.226
= = = = = 0.530
NR 14000 16000 12.50 7.40 0.098
NR 12000 14000 17.90 9.75 0.171
NR 11000 13000 26.70 14.00 0.284
- = = 1.17 0.98 0.006
NR 16000 19000 4.70 3.65 0.025
NR 16000 19000 7.25 5.00 0.049
NR 13000 15000 13.20 8.30 0.114
NR 12000 14000 19.50 11.30 0.201
NR 10000 12000 26.70 15.00 0.349
- = = = = 0.735
NR 12000 15000 15.10 9.15 0.129
NR 11000 12000 20.70 11.60 0.226
NR 9500 11000 29.80 16.90 0.382
- = = 1.85 1.63 =
NR 13000 17000 4.90 4.05 0.029
NR 13000 17000 9.56 6.20 0.074
NR 12000 13000 16.00 10.30 0.148
NR 10000 12000 25.70 15.30 0.287
NR 8500 10000 33.50 19.10 0.460
- = = = = 0.952
NR 12000 15000 5.10 4.40 0.033

B4

STO

B 5



i S

BHI|EEEHZ
N#E 40 ~ 65 mm

B b
r — e
E@X KON i@yl EQ@X
r
Dl 4+——~4d 4 [ I 4
Eon O O
OPEN ZZ 2RS NR
EETH ) RUES
Boundary Dimensions mm Bearing Numbers
M MR = EERY  BETOE  BORE E)r s NSNS AR ST
d D B r (min) a b Open Shielded Sealed
40 62 12 0.3 1.70 0.95 6908 ZZ 2RS
68 15 1.0 2.49 1.90 6008 7z 2RS
80 18 1.1 3.28 1.90 6208 YA 2RS
90 23 1.5 3.28 2.70 6308 7z 2RS
110 27 2.0 = = 6408 Z 2RS
45 58 7 0.3 1.30 0.95 6809 77 2RS
68 12 0.3 1.70 0.95 6909 7z 2RS
75 16 1.0 2.49 1.90 6009 7z 2RS
85 19 1.1 3.28 1.90 6209 YA 2RS
100 25 1.5 3.28 2.70 6309 7z 2RS
120 29 2.1 > - 6409 7 2RS
50 65 7 0.3 1.30 0.95 6810 ZZ 2RS
72 12 0.3 1.70 0.95 6910 ZZ 2RS
80 16 1.0 2.49 1.90 6010 zZ 2RS
90 20 1.1 3.28 2.70 6210 YA 2RS
110 27 2.0 3.28 2.70 6310 zZ 2RS
130 31 2.1 - - 6410 YA 2RS
55 72 9 0.3 1.70 0.95 6811 7 2RS
80 13 1.0 2.10 1.30 6911 7 2RS
90 18 1.1 2.87 2.70 6011 7 2RS
100 21 1.5 3.28 2.70 6211 7z 2RS
120 29 2.0 4.06 3.10 6311 7z 2RS
140 33 2.1 - - 6411 YA 2RS
60 78 10 0.3 1.70 1.30 6812 ZZ 2RS
85 13 1.0 2.10 1.30 6912 YA 2RS
95 18 1.1 2.87 2.70 6012 zZ 2RS
110 22 1.5 3.28 2.70 6212 ZZ 2RS
130 31 2.1 4.06 3.10 6312 YA 2RS
150 35 2.1 - - 6412 YA 2RS
65 85 10 0.6 1.70 1.30 6813 7 2RS
90 13 1.0 2.10 1.30 6913 7z 2RS

A EERE (rom) ERFERGEE o 2
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE Weight
With Snap Ring Grease Oil Cr Cor (ke)
NR 11000 13000 13.80 9.30 0.110
NR 10000 12000 16.80 11.50 0.189
NR 8800 10000 29.10 17.80 0.365
NR 7800 9000 40.50 24.00 0.645
- - - = - 1.230
NR 10000 13000 6.40 5.65 0.040
NR 9800 11000 14.10 9.60 0.128
NR 9000 10000 21.00 15.10 0.236
NR 7200 9000 32.50 20.40 0.420
NR 6800 8100 53.00 32.00 0.842
- = = = = 1.530
NR 9000 11000 6.60 6.10 0.052
NR 9000 10000 14.60 10.40 0.132
NR 8000 9000 21.80 16.60 0.254
NR 6500 8000 35.00 23.20 0.466
NR 6200 7500 62.00 38.50 1.086
- - - - - 1.880
NR 8500 10000 8.32 6.20 0.083
NR 8000 9500 15.90 11.40 0.190
NR 7500 8800 28.30 21.20 0.366
NR 6100 7500 43.50 29.20 0.606
NR 5700 6700 74.10 45.00 1.350
- = = = = 2.300
NR 8000 9500 8.71 6.70 0.110
NR 7500 9000 16.50 12.00 0.200
NR 7100 8300 29.50 23.20 0.389
NR 5800 7300 52.50 36.00 0.793
NR 5300 6300 85.20 52.00 1.700
- - - - - 2.750
NR 7500 8500 11.70 9.15 0.130
NR 7000 8500 17.40 13.40 0.220

B 6

STO

B7



i S

BHI|EEEHZ
AN 65 ~ 90 mm

B b
r — e
QX Y L@l QX
r
D| +——}d e T 4
o & o
OPEN Y4 2RS NR
FETE () HFUOES
Boundary Dimensions mm Bearing Numbers
NE PARES ] EEY BETOIR EDIE 3087 —ILER =L
d D B r (min) a b Open Shielded Sealed
65 100 18 1.1 2.87 2.70 6013 Y4 2RS
120 23 1.5 4.06 3.10 6213 77 2RS
140 33 2.1 4.90 3.10 6313 Y4 2RS
160 37 2.1 = = 6413 77 2RS
70 90 10 0.6 1.70 1.30 6814 Y74 2RS
100 16 1.0 2.50 1.30 6914 77 2RS
110 20 1.1 2.87 2.70 6014 77 2RS
125 24 1.5 4.06 3.10 6214 77 2RS
150 35 2.1 4.90 3.10 6314 77 2RS
180 42 3.0 = = 6414 77 2RS
75 95 10 0.6 1.70 1.30 6815 Y4 2RS
105 16 1.0 2.50 1.30 6915 Y4 2RS
115 20 1.1 2.87 2.70 6015 Y4 2RS
130 25 1.5 4.06 3.10 6215 Y4 2RS
160 37 2.1 4.90 3.10 6315 Y4 2RS
190 45 3.0 - - 6415 Y4 2RS
80 100 10 0.6 1.70 1.30 6816 77 2RS
110 16 1.0 2.50 1.30 6916 77 2RS
125 22 1.1 2.87 3.10 6016 77 2RS
140 26 2.0 4.90 3.10 6216 77 2RS
170 39 2.1 5.69 3.50 6316 77 2RS
200 48 3.0 = = 6416 77 2RS
85 110 13 1.0 2.10 1.30 6817 Y4 2RS
120 18 1.1 3.30 1.30 6917 Y4 2RS
130 22 1.1 2.87 3.10 6017 Y4 2RS
150 28 2.0 4.90 3.10 6217 Y4 2RS
180 41 3.0 5.69 3.50 6317 Y4 2RS
210 52 4.0 - - 6417 Y4 2RS
90 115 13 1.0 2.10 1.30 6818 Y74 2RS
125 18 1.1 3.30 1.30 6918 77 2RS
140 24 1.5 3.71 3.10 6018 77 2RS

A EERE (rom) ERERETE o =
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE eight
With Snap Ring Grease Oil Cr Cor (ke)
NR 6700 8000 31.90 25.00 0.440
NR 5500 7000 58.50 40.50 0.990
NR 5000 6000 97.50 60.00 2.100
- - - = - 3.300
NR 6700 8000 12.10 10.00 0.140
NR 6300 7500 23.80 18.30 0.350
NR 6300 7100 39.70 31.00 0.600
NR 5000 6100 63.70 45.00 1.100
NR 4500 5300 111.00 68.00 2.500
= = = = = 4.850
NR 6300 7500 12.50 10.80 0.150
NR 6000 7100 24.20 19.30 0.370
NR 5800 7000 41.60 33.50 0.640
NR 4800 5600 68.90 49.00 1.200
NR 4300 5000 119.00 76.50 3.000
- - = - - 6.800
NR 6000 7100 12.70 10.80 0.150
NR 5600 6700 25.10 20.40 0.400
NR 5300 6300 47.50 40.00 0.872
NR 4500 5300 72.50 53.00 1.420
NR 4000 4800 123.00 86.50 3.670
- = = = = 8.000
NR 5600 6700 19.50 16.60 0.270
NR 5300 6300 31.90 30.00 0.550
NR 5000 6000 49.50 43.00 0.918
NR 4300 5000 84.00 62.00 1.760
NR 3800 4500 133.00 97.00 4.280
- - - - - 9.500
NR 5300 6300 19.50 17.00 0.280
NR 5000 6000 33.20 31.50 0.590
NR 4800 5600 58.00 50.00 1.190

B8

STO

B9



i S

ER|FEEEHZ
A% 90 ~ 130 mm

@l

S

o & o
OPEN Y4 2RS NR
FETE () HFUOES
Boundary Dimensions mm Bearing Numbers
HNE PARES ] EEY BETOIR EDIE 30617 —ILER —ILs
d D B r (min) a b Open Shielded Sealed
90 160 30 2.0 4.90 3.10 6218 77 2RS
190 43 3.0 5.69 3.50 6318 77 2RS
225 54 4.0 - - 6418 77 2RS
95 120 13 1.0 2.10 1.30 6819 77 2RS
130 18 1.1 3.30 1.30 6919 Y4 2RS
145 24 1.5 3.71 3.10 6019 77 2RS
170 32 2.1 5.69 3.50 6219 77 2RS
200 45 3.0 5.69 3.50 6319 77 2RS
100 125 13 1.0 2.10 1.30 6820 zZ 2RS
140 20 11 3.30 1.90 6920 Y4 2RS
150 24 1.5 3.71 3.10 6020 Y4 2RS
180 34 2.1 5.69 3.50 6220 Y4 2RS
215 47 3.0 5.69 3.50 6320 Y4 2RS
250 58 4.0 - - 6420 Y4 2RS
105 130 13 1.0 = = 6821 77 2RS
145 20 1.1 = = 6921 Y4 2RS
160 26 2.0 = = 6021 77 2RS
190 36 2.1 = = 6221 77 2RS
225 49 3.0 = = 6321 77 2RS
110 140 16 1.0 - - 6822 zZ 2RS
150 20 11 - - 6922 7z 2RS
170 28 2.0 - - 6022 Y4 2RS
200 38 2.1 - - 6222 Y4 2RS
240 50 3.0 - - 6322 Y4 2RS
120 150 16 1.0 = = 6824 77 2RS
165 22 1.1 = = 6924 77 2RS
180 28 2.0 = = 6024 Y4 2RS
215 40 2.1 = = 6224 Y4 2RS
260 55 3.0 = = 6324 77 2RS
130 165 18 1.1 - - 6826 77 2RS
180 24 1.5 - - 6926 77 2RS

B10

A EERE (rom) ERERETE o =
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE eight
With Snap Ring Grease Oil Cr Cor (ke)
NR 4000 4800 96.00 71.50 2.180
NR 3600 4300 143.00 107.00 4.980
- - - - 3 11.500
NR 5000 6000 19.90 17.60 0.300
NR 4800 5600 33.80 33.50 0.610
NR 4500 5300 60.50 54.00 1.230
NR 3800 4500 109.00 82.00 2.640
NR 3000 3600 153.00 119.00 5.760
NR 4800 5600 19.90 18.30 0.310
NR 4500 5300 42.30 41.50 0.830
NR 4300 5300 60.00 54.00 1.290
NR 3600 4300 122.00 93.00 3.170
NR 2800 3400 173.00 141.00 7.040
- - - - - 13.500
NR = = 20.30 22.70 0.312
NR 4300 5100 42.50 44.80 0.856
NR 4000 4800 72.50 66.00 1.580
NR 3400 4000 133.00 105.00 3.790
NR 2600 3200 184.00 154.00 8.090
NR 4300 5300 28.10 30.70 0.600
NR 4300 5000 43.60 45.00 0.900
NR 3800 4500 85.00 73.00 1.940
NR 2800 3400 144.00 117.00 4.450
NR 2400 3000 205.00 179.00 9.510
NR 4000 4800 29.00 33.00 0.650
NR 3800 4500 55.30 57.00 1.200
NR 3600 4300 88.00 80.00 2.080
NR 2600 3200 155.00 131.00 5.290
- 2200 2800 207.00 185.00 12.500
NR 3600 4300 37.70 43.00 0.930
NR 3400 4000 65.00 67.00 1.600

STO

B11



NITEIN

R F STO

ER|FEEEHZ
R#Z 130 ~ 200 mm

B i L b
QX oy oY O

E@N LG/ O g]

OPEN ZZ 2RS NR

FETE HUES ERAELTR- EREIERGFE -

o (mm) ) i (rpm) ) : (kN) =

Boundary Dimensions Bearing Numbers Limiting Speeds Basic Load Ratings .

_ . _ . = S N S 2 o — T Wei
M E i EEY  EETOE  EOIE Bl L—KE L—LE Lot | JU—REE SRR BHE HHE e'g)t
d D B r (min) a b Open Shielded Sealed With Snap Ring Grease oil Cr Cor (ke

130 200 33 2.0 - - 6026 Z 2RS NR 3000 3600 106.00 101.00 3.260
230 40 3.0 - - 6226 YA 2RS NR 2400 3000 167.00 146.00 5.960
280 58 4.0 - - 6326 7 2RS - 2200 2600 229.00 214.00 15.200

140 175 18 1.1 - - 6828 7 2RS NR 3400 4000 39.00 46.50 0.990
190 24 1.5 - - 6928 7 2RS NR 3200 3800 66.30 72.00 1.700

210 33 2.0 - - 6028 7 2RS = 2800 3400 110.00 109.00 3.480

250 42 3.0 - - 6228 7z 2RS NR 2200 2800 166.00 150.00 7.680
300 62 4.0 - - 6328 7z 2RS = 2200 2400 253.00 246.00 18.500

150 190 20 1.1 = - 6830 7 2RS NR = - 48.80 61.00 1.150
210 28 2.0 - - 6930 zZ 2RS - - - 85.00 93.00 3.050

225 35 2.1 = - 6030 ZZ 2RS - = - 126.00 126.00 4.240
270 45 3.0 = - 6230 ZZ 2RS - - - 176.00 168.00 10.000

160 200 20 1.1 = = 6832 YA 2RS NR = = 49.50 62.50 1.180
220 28 2.0 - - 6932 7 2RS = = = 86.90 95.50 2.590

170 215 22 1.1 - - 6834 zZ 2RS - - = 51.20 63.30 1.650
230 28 2.0 - - 6934 ZZ 2RS - - = 88.80 100.00 2.730

180 225 22 1.1 = = 6836 7 2RS - = = 62.30 75.90 1.980
250 33 2.0 = = 6936 YA 2RS = = = 118.00 133.00 4.060

190 240 24 1.5 - - 6838 7 2RS - - - 73.00 91.60 2.100
260 33 2.0 - - 6938 zZ 2RS - - - 117.00 133.00 4.220

200 250 24 1.5 = = 6840 7 2RS - = = 74.20 92.80 2.180
300 38 2.1 = = 6940 7 2RS - = = 152.00 178.00 6.340

X . AR 200mm U EDBREIKR > TRDEI DT, CHHAIES.

B12 B13



NITEIN

s B 52

i == -

ATULRE B FEEMHMZ
RE 10 ~ 30 mm

as

QX K g
OPEN Y4 2RS NR
FETE () HFUOES
Boundary Dimensions mm Bearing Numbers
NE PARES ] EEY BETOIR BDIE 30817 —ILER —ILF
d D B r (min) a b Open Shielded Sealed
10 19 5 0.3 - - SS6800 Y4 2RS
22 6 0.3 1.05 0.80 SS6900 77 2RS
26 8 0.3 - - SS6000 77 2RS
30 9 0.6 2.06 1.35 SS6200 Y4 2RS
35 11 0.6 2.06 1.35 SS6300 77 2RS
12 21 5 0.3 = = SS6801 77 2RS
24 6 0.3 1.05 0.80 SS6901 77 2RS
28 8 0.3 > = SS6001 77 2RS
32 10 0.6 2.06 1.35 SS6201 77 2RS
37 12 1.0 2.06 1.35 SS6301 77 2RS
15 24 5 0.3 L - SS6802 77 2RS
28 7 0.3 1.30 0.95 SS6902 77 2RS
32 9 0.3 2.06 1.35 SS6002 Y4 2RS
35 11 0.6 2.06 1.35 SS6202 Y4 2RS
42 13 1.0 2.06 1.35 SS6302 77 2RS
17 26 5 0.3 = = SS6803 Y4 2RS
30 7 0.3 1.30 0.95 SS6903 77 2RS
35 10 0.3 2.06 1.35 SS6003 77 2RS
40 12 0.6 2.06 1.35 SS6203 77 2RS
47 14 1.0 2.46 1.35 SS6303 77 2RS
20 32 7 0.3 1.30 0.95 SS6804 zZ 2RS
37 9 0.3 1.70 0.95 SS6904 77 2RS
42 12 0.6 2.06 1.35 SS6004 zZ 2RS
47 14 1.0 2.46 1.35 SS6204 77 2RS
52 15 11 2.46 1.35 SS6304 Y4 2RS
25 37 7 0.3 1.30 0.95 SS6805 77 2RS
42 9 0.3 1.70 0.95 SS6905 77 2RS
47 12 0.6 2.06 1.35 SS6005 7 2RS
52 15 1.0 2.46 1.35 SS6205 Y4 2RS
62 17 1.1 3.28 1.90 SS6305 77 2RS
30 42 7 0.3 1.30 0.95 SS6806 7z 2RS

B14

A EERE (rom) ERERETE o =
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE eight
With Snap Ring Grease Oil Cr Cor (ke)
- 32000 38000 1.83 0.93 0.005
NR 30000 36000 2.70 1.27 0.009
NR 29000 34000 4.55 1.96 0.019
NR 25000 30000 5.10 2.39 0.032
NR 23000 27000 8.20 3.50 0.053
- 29000 35000 1.92 1.04 0.006
NR 27000 32000 2.89 1.46 0.011
NR 26000 30000 5.10 2.39 0.021
NR 22000 26000 6.10 2.75 0.037
NR 20000 24000 9.70 4.20 0.060
- 26000 31000 2.08 1.26 0.007
NR 24000 28000 4.10 2.06 0.016
NR 22000 26000 5.60 2.84 0.030
NR 19000 23000 7.75 3.60 0.045
NR 17000 21000 11.40 5.45 0.082
- 24000 28000 2.63 1.57 0.008
NR 22000 26000 4.65 2.58 0.018
NR 20000 24000 6.80 3.35 0.039
NR 18000 21000 9.60 4.60 0.066
NR 16000 19000 13.50 6.55 0.115
NR 21000 25000 4.00 2.47 0.019
NR 19000 23000 6.40 3.70 0.036
NR 18000 21000 9.40 5.05 0.069
NR 16000 18000 12.80 6.65 0.106
NR 14000 17000 15.90 7.90 0.144
NR 18000 21000 4.30 2.95 0.022
NR 16000 19000 7.05 4.55 0.042
NR 15000 18000 10.10 5.85 0.080
NR 13000 15000 14.00 7.85 0.128
NR 12000 14000 21.20 10.90 0.232
NR 15000 18000 4.70 3.65 0.026

STO

B15



NITEIN

s B 52

i == -

ATULRE B FEEMHMZ
AN 30 ~ 60 mm

as

v
D| +——d +— S E— R
QX K g
OPEN Y4 2RS NR
FETE () HFUOES
Boundary Dimensions mm Bearing Numbers
HNE PAXES ] EEY BETOIR EDIE 30817 —ILER =L
d D B r (min) a b Open Shielded Sealed
30 47 9 0.3 1.70 0.95 SS6906 Y4 2RS
55 13 1.0 2.08 1.35 SS6006 77 2RS
62 16 1.0 3.28 1.90 SS6206 77 2RS
72 19 1.1 3.28 1.90 SS6306 Y4 2RS
35 47 7 0.3 1.30 0.95 SS6807 77 2RS
55 10 0.6 1.70 0.95 SS6907 77 2RS
62 14 1.0 2.08 1.90 SS6007 77 2RS
72 17 1.1 3.28 1.90 SS6207 77 2RS
80 21 145 3.28 1.90 SS6307 77 2RS
40 52 7 0.3 1.30 0.95 SS6808 77 2RS
62 12 0.6 1.70 0.95 SS6908 77 2RS
68 15 1.0 2.49 1.90 SS6008 77 2RS
80 18 1.1 3.28 1.90 SS6208 77 2RS
90 23 1.5 3.28 2.70 SS6308 zZ 2RS
45 58 7 0.3 1.30 0.95 SS6809 Y4 2RS
68 12 0.6 1.70 0.95 SS6909 77 2RS
75 16 1.0 2.49 1.90 SS6009 Y4 2RS
85 19 1.1 3.28 1.90 SS6209 77 2RS
100 25 1.5 3.28 2.70 SS6309 77 2RS
50 65 7 0.3 1.30 0.95 SS6810 zZ 2RS
72 12 0.6 1.70 0.95 SS6910 Y4 2RS
80 16 1.0 2.49 1.90 SS6010 zZ 2RS
90 20 11 3.28 2.70 SS6210 Y4 2RS
110 27 2.0 3.28 2.70 SS6310 Y4 2RS
55 72 9 0.3 1.70 0.95 SS6811 77 2RS
80 13 1.0 2.10 1.30 SS6911 77 2RS
90 18 1.1 2.87 2.70 SS6011 Y4 2RS
100 21 1.5 3.28 2.70 SS6211 77 2RS
120 29 2.0 4.06 3.10 SS6311 77 2RS
60 78 10 0.3 1.70 1.30 SS6812 7z 2RS
85 13 1.0 2.10 1.30 SS6912 7z 2RS

B16

FEREEH (rom) EXERTE o =
Limiting Speeds Basic Load Ratings )
O | TU—REE EEE i E HEE etght
With Snap Ring Grease Oil Cr Cor (ke)
NR 14000 17000 7.25 5.00 0.048
NR 13000 15000 13.20 8.30 0.116
NR 11000 13000 19.50 11.30 0.199
NR 10000 12000 26.70 15.00 0.360
NR 13000 16000 4.90 4.05 0.029
NR 12000 15000 10.60 7.25 0.074
NR 12000 14000 16.00 10.30 0.155
NR 9800 11000 25.70 15.30 0.288
NR 8800 10000 33.50 19.10 0.457
NR 12000 14000 5.10 4.40 0.033
NR 11000 13000 13.70 10.20 0.110
NR 10000 12000 16.80 11.50 0.190
NR 8700 10000 29.10 17.80 0.366
NR 7800 9200 40.50 24.00 0.630
NR 11000 12000 6.40 5.65 0.040
NR 9800 12000 14.10 10.90 0.128
NR 9200 11000 21.00 15.10 0.237
NR 7800 9200 32.50 20.40 0.398
NR 7000 8200 53.00 32.00 0.814
NR 9600 11000 6.60 6.10 0.052
NR 8900 11000 14.50 11.70 0.132
NR 8400 9800 21.80 16.60 0.261
NR 7100 8300 35.00 23.20 0.454
NR 6400 7500 62.00 38.50 1.070
NR 8700 10000 8.80 8.10 0.083
NR 8200 9600 16.00 13.30 0.180
NR 7700 9000 28.30 21.20 0.388
NR 6400 7600 43.50 29.20 0.601
NR 5800 6800 71.50 45.00 1.370
NR 8000 9400 11.50 10.60 0.106
NR 7600 8900 16.40 14.30 0.193

STO

B17



NITEIN

s B 52

i == -

ATULRE B FEEMHMZ
AN 60 ~ 90 mm

as

QX K g
OPEN Y4 2RS NR
FETE () HFUES
Boundary Dimensions mm Bearing Numbers
HNE PARES ] EEY BETOIR EDIE 30817 —ILER =L
d D B r (min) a b Open Shielded Sealed
60 95 18 1.1 2.87 2.70 SS6012 Y4 2RS
110 22 1.5 3.28 2.70 SS6212 Y4 2RS
130 31 2.1 4.06 3.10 SS6312 Y4 2RS
65 85 10 0.6 1.70 1.30 SS6813 77 2RS
90 13 1.0 2.10 1.30 SS6913 77 2RS
100 18 1.1 2.87 2.70 SS6013 77 2RS
120 23 if's) 4.06 3.10 SS6213 77 2RS
140 33 2.1 4.90 3.10 SS6313 77 2RS
70 90 10 0.6 1.70 1.30 SS6814 Y4 2RS
100 16 1.0 2.50 1.30 SS6914 Y4 2RS
110 20 1.1 2.87 2.70 SS6014 Y4 2RS
125 24 1.5 4.06 3.10 SS6214 Y4 2RS
150 35 2.1 4.90 3.10 SS6314 Y4 2RS
75 95 10 0.6 1.70 1.30 SS6815 77 2RS
105 16 1.0 2.50 1.30 SS6915 Y4 2RS
115 20 11 2.87 2.70 SS6015 77 2RS
130 25 1.5 4.06 3.10 SS6215 77 2RS
160 37 2.1 4.90 3.10 SS6315 77 2RS
80 100 10 0.6 1.70 1.30 SS6816 77 2RS
110 16 1.0 2.50 1.30 SS6916 77 2RS
125 22 11 2.87 3.10 SS6016 77 2RS
140 26 2.0 4.90 3.10 SS6216 77 2RS
170 39 2.1 5.69 3.50 SS6316 zZ 2RS
85 110 13 1.0 2.10 1.30 SS6817 77 2RS
120 18 11 3.30 1.30 SS6917 77 2RS
130 22 1.1 2.87 3.10 SS6017 77 2RS
150 28 2.0 4.90 3.10 SS6217 77 2RS
180 41 3.0 5.69 3.50 SS6317 77 2RS
90 115 13 1.0 2.10 1.30 SS6818 zZ 2RS
125 18 11 3.30 1.30 SS6918 Y4 2RS
140 24 1.5 3.71 3.10 SS6018 77 2RS

B18

A EERE (rom) ERERETE o =
Limiting Speeds Basic Load Ratings )
LA | JU—REE mEE BHE BHE eight
With Snap Ring Grease 0il Cr Cor (ke)
NR 7000 8300 29.50 23.20 0.414
NR 6000 7000 52.50 36.00 0.783
NR - - - - =
NR 7400 8700 11.60 11.00 0.128
NR 7000 8200 17.40 16.10 0.206
NR 6500 7700 30.50 25.20 0.421
NR 5500 6500 57.50 40.00 0.990
NR = = = = =
NR 6900 8100 12.10 11.90 0.137
NR 6500 7700 23.70 21.20 0.334
NR 6100 7100 38.00 31.00 0.604
NR - - = - -
NR = - = - -
NR 6400 7600 12.50 12.90 0.145
NR 6100 7200 24.40 22.60 0.353
NR - - - - -
NR - - - - -
NR - - - - -
NR 6000 7100 12.70 13.30 0.154
NR 5700 6700 24.90 24.00 0.373
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -
NR - - - - -

STO

B19



NITEIN

i == -

AT AL B3l
AE 90 ~ 100 mm

s B 52

NN

R

BEE#Z

as

QX K g
OPEN Y4 2RS NR
FETE () HFUOES
Boundary Dimensions mm Bearing Numbers
NE PARES ] EEY BETOIR EDIE )87 —ILER =L
d D B r (min) a b Open Shielded Sealed
90 160 30 2.0 4.90 3.10 SS6218 77 2RS
190 43 3.0 5.69 3.50 SS6318 7 2RS
95 120 13 1.0 2.10 1.30 SS6819 Y4 2RS
130 18 1.1 3.30 1.30 SS6919 VL 2RS
145 24 1.5 3.71 3.10 SS6019 Y4 2RS
170 32 2.1 5.69 3.50 SS6219 77 2RS
200 45 3.0 5.69 3.50 SS6319 77 2RS
100 125 13 1.0 2.10 1.30 SS6820 Y74 2RS
140 20 1.1 3.30 1.90 SS6920 Y4 2RS
150 24 1.5 3.71 3.10 SS6020 Y4 2RS
180 34 2.1 5.69 3.50 SS6220 Y4 2RS
215 47 3.0 5.69 3.50 SS6320 77 2RS

1E &R
With Snap Ring

A EERE
Limiting Speeds
J)—RHEiE

Grease

(rpm)

A

Oil

ERFEHRFE

Basic Load Ratings

EifirE
Cr

(kN)

I E
Cor

=

=
Weight
(kg)

X & WE 100mm UEDBGREEK > THDFII DT, CHEAIIESL,

B20

NR
NR

NR
NR
NR
NR
NR

NR
NR
NR
NR
NR

STO

B21



i S

SZT7FATEET - INEEEHT
NZE1~4mm

QN @ @

O O o

—

OPEN zZ 2RS
FETE (mm) HUES
Boundary Dimensions Bearing Numbers
RE PARES & i 1 HEHY Ea)ngi — LR =L
d D B B1 r (min) Open Shielded Sealed
1 3 1.0 - 0.05 681 - -
3 1.5 - 0.05 MR31 - -
4 1.6 - 0.10 691 N -
1.2 4 1.8 2.5 0.10 MR41X 77 -
1.5 4 1.2 2.0 0.05 681X Y4 -
5 2.0 2.6 0.15 691X 77 -
6 2.5 3.0 0.15 601X 7 -
2 5 1.5 2.3 0.08 682 YA -
5 2.0 2.5 0.10 MR52 YA -
6 2.3 3.0 0.15 692 YA -
6 2.5 2.5 0.15 MR62 YA -
7 2.5 3.0 0.15 MR72 YA -
7 2.8 3.5 0.15 602 77 -
2.5 6 1.8 2.6 0.08 682X Y4 -
7 2.5 3.5 0.15 692X 2z -
8 2.5 - 0.20 MR82X - -
8 2.8 4.0 0.15 602X YA -
3 6 2.0 2.5 0.10 MR63 YA -
7 2.0 3.0 0.10 683 YA -
8 2.5 = 0.15 MR83 - -
8 3.0 4.0 0.15 693 Y4 -
9 2.5 4.0 0.15 MR93 7 -
9 3.0 5.0 0.15 603 7 =
10 4.0 4.0 0.15 623 YA 2RS
13 5.0 5.0 0.20 633 YA -
4 7 2.0 2.5 0.10 MR74 YA -
8 2.0 3.0 0.10 MR84 Y4 -
9 2.5 4.0 0.10 684 Y4 -
10 3.0 4.0 0.15 MR104 Y4 -
11 4.0 4.0 0.15 694 Z 2RS
12 4.0 4.0 0.20 604 7 -
13 5.0 5.0 0.20 624 YA 2RS
16 5.0 5.0 0.30 634 YA -

B22

A EERE ERERFTE s
o (rpm) i ; (kN) ; (g)
Limiting Speeds Basic Load Ratings Weight
) —RHEE iEE EfrE R E N8I — LR

Grease oil Cr Cor Open Shielded
130000 150000 0.074 0.020 0.03 =
130000 150000 0.074 0.020 0.04 -
100000 120000 0.137 0.039 0.09 =
110000 130000 0.108 0.034 0.10 0.14
100000 120000 0.108 0.034 0.07 0.11
85000 100000 0.237 0.069 0.17 0.20
75000 90000 0.333 0.098 0.33 0.38
85000 100000 0.167 0.049 0.12 0.17
85000 100000 0.167 0.049 0.16 0.23
75000 90000 0.333 0.098 0.28 0.38
75000 90000 0.333 0.098 0.30 0.29
63000 75000 0.382 0.127 0.45 0.49
63000 75000 0.382 0.127 0.51 0.58
71000 80000 0.208 0.074 0.23 0.29
63000 75000 0.382 0.127 0.41 0.55
60000 67000 0.559 0.176 0.56 -
60000 67000 0.549 0.176 0.63 0.83
71000 80000 0.208 0.074 0.19 0.28
63000 75000 0.310 0.111 0.32 0.43
60000 67000 0.560 0.179 0.51 =
60000 67000 0.560 0.179 0.61 0.83
56000 67000 0.570 0.187 0.68 1.18
56000 67000 0.570 0.187 0.84 1.45
50000 60000 0.630 0.218 1.65 1.66
36000 43000 1.300 0.485 3.38 3.33
60000 67000 0.310 0.115 0.21 0.29
56000 67000 0.395 0.139 0.33 0.56
53000 63000 0.640 0.225 0.63 1.01
48000 56000 0.585 0.204 0.95 1.33
48000 56000 0.960 0.345 1.70 1.75
48000 56000 0.960 0.345 2.25 2.29
40000 48000 1.300 0.485 2.97 3.04
36000 43000 1.340 0.515 5.24 5.21

STO

B23



i S

SZT7FoaTEMF - INEEERZ
HNES5 ~ 9 mm

B B1 B1
r SR
E@N x I
r
D| +——+d - —t — —t
I O
OPEN Y4 2RS
FETE (mm) HFUOES
Boundary Dimensions Bearing Numbers
RE HhE & i 1 EEY )i eis L—ILER =R
d D B B1 r (min) Open Shielded Sealed
5 8 2.0 2.5 0.10 MR85 Y4 -
9 2.5 3.0 0.15 MR95 7z -
10 3.0 4.0 0.15 MR105 YA -
11 - 4.0 0.15 MR115 Y4 2RS
11 3.0 5.0 0.15 685 7z 2RS
13 4.0 4.0 0.20 695 77 2RS
14 5.0 5.0 0.20 605 YA 2RS
16 5.0 5.0 0.30 625 YA 2RS
19 6.0 6.0 0.30 635 zZ 2RS
6 10 2.5 3.0 0.10 MR106 77 -
12 3.0 4.0 0.15 MR126 Y4 2RS
13 3.5 5.0 0.15 686 YA 2RS
15 5.0 5.0 0.20 696 77 2RS
17 6.0 6.0 0.30 606 Y4 2RS
19 6.0 6.0 0.30 626 Y74 2RS
22 7.0 7.0 0.30 636 Y4 2RS
7 11 2.5 3.0 0.15 MR117 YA -
13 3.0 4.0 0.15 MR137 2z -
14 3.5 5.0 0.15 687 77 2RS
17 5.0 5.0 0.30 697 zZ 2RS
19 6.0 6.0 0.30 607 7z 2RS
22 7.0 7.0 0.30 627 YA 2RS
26 9.0 9.0 0.30 637 zZ 2RS
8 12 2.5 3.5 0.15 MR128 Y4 -
14 3.5 4.0 0.15 MR148 Y4 2RS
16 4.0 5.0 0.20 688 YA 2RS
19 6.0 6.0 0.30 698 77 2RS
22 7.0 7.0 0.30 608 77 2RS
24 8.0 8.0 0.30 628 77 2RS
28 9.0 9.0 0.30 638 7z 2RS
9 17 4.0 5.0 0.20 689 zZ 2RS
20 6.0 6.0 0.30 699 7z 2RS
24 7.0 7.0 0.30 609 77 2RS
26 8.0 8.0 0.30 629 Y4 2RS
30 10.0 10.0 0.60 639 7z 2RS

A EERE ERERFTE s
e (rpm) i ; (kN) ; (g)
Limiting Speeds Basic Load Ratings Weight
) —RiHEE HiEE EfrE T E N8I — LR

Grease oil Cr Cor Open Shielded
53000 63000 0.310 0.120 0.24 0.34
50000 60000 0.430 0.168 0.48 0.54
50000 60000 0.430 0.168 0.91 1.29
48000 56000 0.715 0.294 = 1.49
45000 53000 0.715 0.281 1.20 1.95
43000 50000 1.080 0.430 2.38 2.50
40000 50000 1.330 0.505 3.54 3.48
36000 43000 1.730 0.670 4.95 4.86
32000 40000 2.340 0.885 8.53 8.37
45000 53000 0.495 0.218 0.53 0.66
43000 50000 0.715 0.292 1.20 1.70
40000 50000 1.080 0.440 1.90 2.64
40000 45000 1.340 0.515 3.79 3.72
38000 45000 2.260 0.835 5.94 6.08
32000 40000 2.340 0.885 8.15 7.97
30000 36000 3.300 1.370 14.00 14.00
43000 50000 0.455 0.201 0.59 0.71
40000 48000 0.540 0.276 1.50 1.98
40000 45000 1.170 0.510 2.10 2.97
36000 43000 1.610 0.710 5.26 5.01
36000 43000 2.340 0.885 7.67 7.54
30000 36000 3.300 1.370 12.70 12.90
28000 34000 4.550 1.970 24.00 25.00
40000 45000 0.545 0.274 0.68 0.95
38000 43000 0.820 0.385 1.86 2.12
36000 43000 1.605 0.710 3.25 4.00
36000 40000 2.240 0.910 7.23 7.18
34000 40000 3.300 1.370 12.10 12.20
28000 34000 3.350 1.430 17.20 17.30
28000 34000 4.550 1.970 28.30 28.60
36000 40000 1.330 0.665 3.53 4.43
34000 38000 2.470 1.080 8.45 8.33
32000 34000 3.350 1.430 14.50 14.60
28000 30000 4.550 1.970 19.50 19.00
24000 - 4.650 2.070 35.70 36.00

B24

STO

B25



NITEIN

= EEEH]%

N

_— — — kxv3 /, kxv3
TIUMFE 27 FaT7EHZ - INEFERZ
A
NE1 ~4mm ° o1 Bl Lo
r
K@ ()
v
@ D/ | —|d| pi 412
et
1] Y]
7Z> P 4FOPEN AT VA
FETE Itk HUOES
(mm) (mm)
Boundary Dimensions Flange Dimensions Bearing Numbers
ANE HhE & & 1 EEY HhE e )i dis L—ILER
d D B B1 r (min) D1 D2 G C2 Open Shielded
1 3 1.0 - 0.05 3.8 - 0.3 = F681 -
4 1.6 - 0.10 5.0 - 0.5 - F691 -
1.2 4 1.8 = 0.10 4.8 = 0.4 - MF41X -
1.5 4 1.2 2.0 0.05 5.0 5.0 0.4 0.6 F681X YA
5 2.0 2.6 0.15 6.5 6.5 0.6 0.8 F691X 77
6 2.5 3.0 0.15 7.5 7.5 0.6 0.8 F601X 77
2 5 1.5 2.3 0.08 6.1 6.1 0.5 0.6 F682 77
5 2.0 2.5 0.10 6.2 6.2 0.6 0.6 MF52 77
6 2.3 3.0 0.15 7.5 7.5 0.6 0.8 F692 YA
6 2.5 = 0.15 7.2 = 0.6 = MF62 -
7 2.5 3.0 0.15 8.2 8.2 0.6 0.6 MF72 Y4
7 2.8 3.5 0.15 8.5 8.5 0.7 0.9 F602 77
2.5 6 1.8 2.6 0.08 7.1 7.1 0.5 0.8 F682X YA
7 2.5 3.5 0.15 8.5 8.5 0.7 0.9 F692X YA
8 2.5 3 0.20 9.2 - 0.6 - MF82X -
8 2.8 4.0 0.15 9.5 9.5 0.7 0.9 F602X 77
3 6 2.0 2.5 0.10 7.2 7.2 0.6 0.6 MF63 77
7 2.0 3.0 0.10 8.1 8.1 0.5 0.8 F683 77
8 2.5 = 0.15 9.2 = 0.6 = MF83 -
8 3.0 4.0 0.15 9.5 9.5 0.7 0.9 F693 77
9 2.5 4.0 0.15 10.2 10.6 0.6 0.8 MF93 77
9 3.0 5.0 0.15 10.5 10.5 0.7 1.0 F603 77
10 4.0 4.0 0.15 11.5 11.5 1.0 1.0 F623 77
13 5.0 5.0 0.20 15.0 15.0 1.0 1.0 F633 YA
4 7 2.0 2.5 0.10 8.2 8.2 0.6 0.6 MF74 77
8 2.0 3.0 0.10 9.2 9.2 0.6 0.6 MF84 77
9 2.5 4.0 0.10 10.3 10.3 0.6 1.0 F684 77
10 3.0 4.0 0.15 11.2 11.6 0.6 0.8 MF104 77
11 4.0 4.0 0.15 12.5 12.5 1.0 1.0 F694 7z
12 4.0 4.0 0.20 13.5 13.5 1.0 1.0 F604 YA
13 5.0 5.0 0.20 15.0 15.0 1.0 1.0 F624 7z
16 5.0 5.0 0.30 18.0 18.0 1.0 1.0 F634 77

A EERE ERERFE B8
o (rpm) i ; (kN) ) (g)
Limiting Speeds Basic Load Ratings Weight
D=Ll | TU—REE HiEE i E T E Ea)8it O—ILRF
Sealed Grease Oil Cr Cor Open Shielded
- 130000 150000 0.074 0.020 0.04 -
- 100000 120000 0.137 0.039 0.14 =
- 110000 130000 0.138 0.034 0.12 =
- 100000 120000 0.108 0.034 0.09 0.14
- 85000 100000 0.237 0.690 0.23 0.28
- 75000 90000 0.333 0.098 0.42 0.52
- 85000 100000 0.167 0.049 0.16 0.22
- 85000 100000 0.187 0.580 0.21 0.27
- 75000 90000 0.333 0.098 0.35 0.48
- 75000 90000 0.333 0.098 0.36 =
- 63000 75000 0.382 0.127 0.52 0.56
- 63000 75000 0.382 0.127 0.60 0.71
- 71000 80000 0.208 0.074 0.25 0.36
- 63000 75000 0.382 0.127 0.51 0.68
- 60000 67000 0.559 0.176 0.62 -
- 60000 67000 0.549 0.176 0.74 0.98
- 71000 80000 0.208 0.074 0.26 0.34
- 63000 75000 0.310 0.111 0.36 0.50
- 60000 67000 0.560 0.179 0.56 =
- 60000 67000 0.560 0.179 0.68 0.95
- 56000 67000 0.570 0.187 0.77 1.32
- 56000 67000 0.570 0.187 0.97 1.63
2RS 50000 60000 0.630 0.218 1.83 1.84
- 36000 43000 1.300 0.485 3.73 3.59
- 60000 67000 0.310 0.115 0.28 0.34
- 56000 67000 0.395 0.139 0.41 0.63
- 53000 63000 0.640 0.225 0.70 1.14
- 48000 56000 0.585 0.204 1.00 1.50
2RS 48000 56000 0.960 0.345 1.89 1.96
- 48000 56000 0.960 0.345 2.48 2.48
2RS 40000 48000 1.300 0.485 3.31 3.48
- 36000 43000 1.340 0.515 5.73 5.57

B26

STO

B27



ST S —— ==
NN - i EH] =2
IR 5 S
—_— LR\ y — kxvi VA kxv3
TIU00NE 7 FaT7EMZ - INEEEF
A
RNED5~9mm ° o Bl o
r
K@ ()
v
® ol b el o] 1o
et
1] Y]
7Z> P 4FOPEN AT VA
FETE IVt HUOES
(mm) (mm)
Boundary Dimensions Flange Dimensions Bearing Numbers
HNE HhE L] & 1 EEY HhE e )i eis L—ILER
d D B B1 r (min) D1 D2 Gl C2 Open Shielded
5 8 2.0 2.5 0.10 9.2 9.2 0.6 0.6 MF85 YA
9 2.5 3.0 0.15 10.2 10.2 0.6 0.6 MF95 7z
10 3.0 4.0 0.15 11.2 11.6 0.6 0.8 MF105 7z
11 3.0 5.0 0.15 12.5 12.5 0.8 1.0 F685 7z
13 4.0 4.0 0.20 15.0 15.0 1.0 1.0 F695 YA
14 5.0 5.0 0.20 16.0 16.0 1.0 1.0 F605 YA
16 5.0 5.0 0.30 18.0 18.0 1.0 1.0 F625 YA
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 F635 YA
6 10 2.5 3.0 0.10 11.2 11.2 0.6 0.6 MF106 YA
12 3.0 4.0 0.15 13.2 13.6 0.6 0.8 MF126 YA
13 3.5 5.0 0.15 15.0 15.0 1.0 kel F686 YA
15 5.0 5.0 0.20 17.0 17.0 1.2 1.2 F696 77
17 6.0 6.0 0.30 19.0 19.0 1.2 1.2 F606 YA
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 F626 YA
22 7.0 7.0 0.30 25.0 25.0 1.5 1.5 F636 YA
7 11 2.5 3.0 0.15 12.2 12.2 0.6 0.6 MF117 7z
13 3.0 4.0 0.15 14.2 14.6 0.6 0.8 MF137 2z
14 3.5 5.0 0.15 16.0 16.0 1.0 1.1 F687 7z
17 5.0 5.0 0.30 19.0 19.0 1.2 1.2 F697 YA
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 F607 YA
22 7.0 7.0 0.30 25.0 25.0 1.5 1.5 F627 YA
26 9.0 9.0 0.30 29.0 29.0 2.0 2.0 F637 YA
8 12 2.5 3.5 0.15 13.2 13.6 0.6 0.8 MF128 YA
14 3.5 4.0 0.15 15.6 15.6 0.8 0.8 MF148 7
16 4.0 5.0 0.20 18.0 18.0 1.0 1.1 F688 YA
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 F698 YA
22 7.0 7.0 0.30 25.0 25.0 1.5 1.5 F608 YA
24 8.0 8.0 0.30 26.0 26.0 2.0 2.0 F628 YA
9 17 4.0 5.0 0.20 19.0 19.0 1.0 1.1 F689 Z
20 6.0 6.0 0.30 23.0 23.0 1.5 1.5 F699 77
24 7.0 7.0 0.30 27.0 27.0 1.5 1.5 F609 7z
26 8.0 8.0 0.30 28.0 28.0 2.0 2.0 F629 7z
30 10.0 10.0 0.60 32.5 32.5 2.5 2.5 F639 2z

B28

A EERE ERERFE B8
o (rpm) i ; (kN) ) (g)
Limiting Speeds Basic Load Ratings Weight
D=Ll | TU—REE HiEE i E T E Ea)8it O—ILRTR
Sealed Grease Oil Cr Cor Open Shielded

- 53000 63000 0.310 0.120 0.33 0.41

- 50000 60000 0.430 0.168 0.56 0.62

- 50000 60000 0.430 0.168 1.01 1.44
2RS 45000 53000 0.715 0.281 1.35 2.14
2RS 43000 50000 1.080 0.430 2.72 2.79
2RS 40000 50000 1.330 0.505 3.85 3.89
2RS 36000 43000 1.730 0.670 5.37 5.22
2RS 32000 40000 2.340 0.885 9.39 9.39

- 45000 53000 0.495 0.218 0.65 0.75
2RS 43000 50000 0.715 0.292 1.31 1.90
2RS 40000 50000 1.080 0.440 2.22 3.02
2RS 40000 45000 1.340 0.515 4.26 4.62
2RS 38000 45000 2.260 0.835 6.47 6.61
2RS 32000 40000 2.340 0.885 8.99 8.99
2RS 30000 36000 3.300 1.370 14.6 14.7

- 43000 50000 0.455 0.201 0.69 0.81

- 40000 48000 0.540 0.276 1.62 2.20
2RS 40000 45000 1.170 0.510 2.44 3.34
2RS 36000 43000 1.610 0.710 5.54 5.54
2RS 36000 43000 2.340 0.885 8.56 8.56
2RS 30000 36000 3.300 1.370 14.10 14.10
2RS 28000 34000 4.550 1.970 - -

- 40000 45000 0.545 0.274 0.79 1.13
2RS 38000 43000 0.820 0.385 2.04 2.35
2RS 36000 43000 1.605 0.710 3.61 4.45
2RS 36000 40000 2.240 0.910 8.26 8.30
2RS 34000 40000 3.300 1.370 13.30 13.40
2RS 28000 34000 3.350 1.430 = =
2RS 36000 40000 1.330 0.665 3.90 4.85
2RS 34000 38000 2.470 1.080 9.51 9.51
2RS 32000 34000 3.350 1.430 - -
2RS 28000 30000 4.450 1.970 - -
2RS 24000 - 4.650 2.070 - -

STO

B29



>

REE

B 52

ATULVAR ZZFFa7EMZ - MEEEHZ
RNE1~Tmm

B30

B B1 B1
r _ _
Y L@p) @D}
D — —+d — —
E@N @y jE@n
OPEN ZZ 2RS
FETE HUES BRELTR- ERERFE E=
a (mm) , o (rpm) : ) (kN) : (g)
Boundary Dimensions Bearing Numbers Limiting Speeds Basic Load Ratings Weight
R#E VAN & & 1 HEEY B — LR — LT J)—RHEiE HiEE T E B E E3) 8 S—ILRTH
d D B B1 r (min) Open Shielded Sealed Grease Oil Cr Cor Open Shielded
1 3 1.0 - 0.05 SS681 = - 130000 150000 0.074 0.020 0.03 =
4 1.6 - 0.10 SS691 I - 100000 120000 0.137 0.039 0.09 =
2 5 1.5 2.3 0.08 SS682 YA - 85000 100000 0.167 0.049 0.12 0.17
6 2.3 3.0 0.15 SS692 Z = 75000 90000 0.333 0.098 0.28 0.38
7 2.8 3.5 0.15 SS602 VA = 63000 75000 0.382 0.127 0.51 0.58
3 7 2.0 3.0 0.10 SS683 YA - 63000 75000 0.310 0.111 0.32 0.43
8 3.0 4.0 0.15 SS693 77 - 60000 67000 0.560 0.179 0.61 0.83
9 3.0 5.0 0.15 SS603 YA - 56000 67000 0.570 0.187 0.84 1.45
10 4.0 4.0 0.15 SS623 7z 2RS 50000 60000 0.630 0.218 1.65 1.66
13 5.0 5.0 0.20 SS633 7z - 36000 43000 1.300 0.485 3.38 3.33
4 9 2.5 4.0 0.10 SS684 77 - 53000 63000 0.640 0.225 0.63 1.01
11 4.0 4.0 0.15 SS694 7z 2RS 48000 56000 0.960 0.345 1.70 1.75
12 4.0 4.0 0.20 SS604 YA - 48000 56000 0.960 0.345 2.25 2.29
13 5.0 5.0 0.20 SS624 YA 2RS 40000 48000 1.300 0.485 2.97 3.04
16 5.0 5.0 0.30 SS634 YA - 36000 43000 1.340 0.515 5.24 5.21
5 11 3.0 5.0 0.15 SS685 Y4 2RS 45000 53000 0.715 0.281 1.20 1.95
13 4.0 4.0 0.20 SS695 Y4 2RS 43000 50000 1.080 0.430 2.38 2.50
14 5.0 5.0 0.20 SS605 7z 2RS 40000 50000 1.330 0.505 3.54 3.48
16 5.0 5.0 0.30 SS625 7z 2RS 36000 43000 1.730 0.670 4.95 4.86
19 6.0 6.0 0.30 SS635 7z 2RS 32000 40000 2.340 0.885 8.53 8.37
6 13 3.5 5.0 0.15 SS686 7 2RS 40000 50000 1.080 0.440 1.90 2.64
15 5.0 5.0 0.20 SS696 7 2RS 40000 45000 1.340 0.515 3.79 3.72
17 6.0 6.0 0.30 SS606 Z 2RS 38000 45000 2.260 0.835 5.94 6.08
19 6.0 6.0 0.30 SS626 YA 2RS 32000 40000 2.340 0.885 8.15 7.97
22 7.0 7.0 0.30 SS636 YA 2RS 30000 36000 3.300 1.370 14.00 14.00
7 14 3.5 5.0 0.15 SS687 77 2RS 40000 45000 1.170 0.510 2.10 2.97
17 5.0 5.0 0.30 SS697 77 2RS 36000 43000 1.610 0.710 5.26 5.01
19 6.0 6.0 0.30 SS607 Y4 2RS 36000 43000 2.340 0.885 7.67 7.54
22 7.0 7.0 0.30 SS627 7z 2RS 30000 36000 3.300 1.370 12.70 12.90
26 9.0 9.0 0.30 SS637 7z 2RS 28000 34000 4.550 1.970 24.00 25.00

STO

B31



R E 10"

ATULVAR ZZFFa7EMZ - MEEEHZ
NE8 ~9mm

O [y

OPEN Y4 2RS
FETE HFUOES FEREEH EXERTE 2
o (mm) . i (rpm) ) . (kN) ) (g)
Boundary Dimensions Bearing Numbers Limiting Speeds Basic Load Ratings Weight
RE HE e M 1 EEY )i —ILRT =L J—RiEiE b:: e bicy BEE BT E 30817 2 —ILRT

d D B B1 r (min) Open Shielded Sealed Grease oil Cr Cor Open Shielded
8 16 4.0 5.0 0.20 SS688 77 2RS 36000 43000 1.605 0.710 3.25 4.00
19 6.0 6.0 0.30 SS698 Y4 2RS 36000 40000 2.240 0.910 7.23 7.18
22 7.0 7.0 0.30 SS608 Y4 2RS 34000 40000 3.300 1.370 12.10 12.20
24 8.0 8.0 0.30 SS628 Y4 2RS 28000 34000 3.350 1.430 17.20 17.30
28 9.0 9.0 0.30 SS638 77 2RS 28000 34000 4.550 1.970 28.30 28.60
9 17 4.0 5.0 0.20 SS689 77 2RS 36000 40000 1.330 0.655 3.53 4.43
20 6.0 6.0 0.30 SS699 Y4 2RS 34000 38000 2.470 1.080 8.45 8.33
24 7.0 7.0 0.30 SS609 77 2RS 32000 34000 3.350 1.430 14.50 14.60
26 8.0 8.0 0.30 SS629 77 2RS 28000 30000 4.550 1.970 19.50 19.00
30 10.0 10.0 0.60 SS639 Y74 2RS 24000 5 4.650 2.070 35.70 36.00

B32 -~



RETMF 10"

W‘T§1~7mm ot 1

C2
r
KON le@n!
r
D|+——+d| D1 +— —1 D2
o )
7522 4FOPEN ISV oMF72Z
FETE 50Tt HUES A EERE ERERFE b+
o (mm) - (mm) i o (rpm) ) ; (kN) ) (g)
Boundary Dimensions Flange Dimensions Bearing Numbers Limiting Speeds Basic Load Ratings Weight
RE VAN & & 1 EHRY PARES i a)eis —ILRH =R | I)—RiEE i E BEE R E Ea)eis — LR
d D B B1 r (min) D1 D2 Ci C2 Open Shielded Sealed Grease oil Cr Cor Open Shielded
1 3 1.0 - 0.05 3.8 - 0.3 = SSF681 - - 130000 150000 0.074 0.020 0.04 =
4 1.6 - 0.10 5.0 - 0.5 - SSF691 - - 100000 120000 0.137 0.039 0.14 =
2 5 1.5 2.3 0.08 6.1 6.1 0.5 0.6 SSF682 Y4 - 85000 100000 0.167 0.049 0.16 0.22
6 2.3 3.0 0.15 7.5 7.5 0.6 0.8 SSF692 Y4 - 75000 90000 0.333 0.098 0.35 0.48
7 2.8 3.5 0.15 8.5 8.5 0.7 0.9 SSF602 Y4 - 63000 75000 0.382 0.127 0.60 0.71
3 7 2.0 3.0 0.10 8.1 8.1 0.5 0.8 SSF683 ZZ - 63000 75000 0.310 0.111 0.36 0.50
8 3.0 4.0 0.15 9.5 9.5 0.7 0.9 SSF693 Y4 - 60000 67000 0.560 0.179 0.68 0.95
9 3.0 5.0 0.15 10.5 10.5 0.7 1.0 SSF603 Y4 - 56000 67000 0.570 0.187 0.97 1.63
10 4.0 4.0 0.15 11.5 11.5 1.0 1.0 SSF623 YA 2RS 50000 60000 0.630 0.218 1.83 1.84
13 5.0 5.0 0.20 15.0 15.0 1.0 1.0 SSF633 YA - 36000 43000 1.300 0.485 3.73 3.59
4 9 2.5 4.0 0.10 10.3 10.3 0.6 1.0 SSF684 Y4 - 53000 63000 0.640 0.225 0.70 1.14
11 4.0 4.0 0.15 12.5 12.5 1.0 1.0 SSF694 YA 2RS 48000 56000 0.960 0.345 1.89 1.96
12 4.0 4.0 0.20 13.5 13.5 1.0 1.0 SSF604 77 - 48000 56000 0.960 0.345 2.48 2.48
13 5.0 5.0 0.20 15.0 15.0 1.0 1.0 SSF624 YA 2RS 40000 48000 1.300 0.485 3.31 3.48
16 5.0 5.0 0.30 18.0 18.0 1.0 1.0 SSF634 Y4 - 36000 43000 1.340 0.515 5.73 5.57
5 11 3.0 5.0 0.15 12.5 12.5 0.8 1.0 SSF685 YA 2RS 45000 53000 0.715 0.281 1.35 2.14
13 4.0 4.0 0.20 15.0 15.0 1.0 1.0 SSF695 YA 2RS 43000 50000 1.080 0.430 2.72 2.79
14 5.0 5.0 0.20 16.0 16.0 1.0 1.0 SSF605 YA 2RS 40000 50000 1.330 0.505 3.85 3.89
16 5.0 5.0 0.30 18.0 18.0 1.0 1.0 SSF625 YA 2RS 36000 43000 1.730 0.670 5.37 5.22
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 SSF635 77 2RS 32000 40000 2.340 0.885 9.39 9.39
6 13 3.5 5.0 0.15 15.0 15.0 1.0 1.1 SSF686 YA 2RS 40000 50000 1.080 0.440 2.22 3.02
15 5.0 5.0 0.20 17.0 17.0 1.2 1.2 SSF696 YA 2RS 40000 45000 1.340 0.515 4.26 4.62
17 6.0 6.0 0.30 19.0 19.0 1.2 1.2 SSF606 YA 2RS 38000 45000 2.260 0.835 6.47 6.61
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 SSF626 77 2RS 32000 40000 2.340 0.885 8.99 8.99
22 7.0 7.0 0.30 25.0 25.0 1.5 1.5 SSF636 YA 2RS 30000 36000 3.300 1.370 14.6 14.7
7 14 3.5 5.0 0.15 16.0 16.0 1.0 1.1 SSF687 YA 2RS 40000 45000 1.170 0.510 2.44 3.34
17 5.0 5.0 0.30 19.0 19.0 1.2 1.2 SSF697 YA 2RS 36000 43000 1.610 0.710 5.54 5.54
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 SSF607 YA 2RS 36000 43000 2.340 0.885 8.56 8.56
22 7.0 7.0 0.30 25.0 25.0 1.5 1.5 SSF627 YA 2RS 30000 36000 3.300 1.370 14.10 14.10
26 9.0 9.0 0.30 29.0 29.0 2.0 2.0 SSF637 YA 2RS 28000 34000 4.550 1.970 - -

B34 -



—

SIS31 S p—
I U, i $$ 4
P ST O 1
—_ I i R — — kxv3 VA 332
ATUVABISUOFE I ZT7FaT7EHT - IMNEEEF
2% 9 ~ B B1
HNE 8 ~ 9 mm o o2
v
E@N (@
v
Dl +——+d| DI +— —1 D2
() @y
75> 4F0PEN I52 44722
FETIE IS5k FUOES
(mm) (mm)
Boundary Dimensions Flange Dimensions Bearing Numbers
AE VANES ] & 1 HEEY FASES & EE)iei — LR
d D B B1 r (min) D1 D2 Gl C2 Open Shielded
8 16 4.0 5.0 0.20 18.0 18.0 1.0 1.1 SSF688 Y4
19 6.0 6.0 0.30 22.0 22.0 1.5 1.5 SSF698 7
22 7.0 7.0 0.30 25.0 25.0 1.5 |5 SSF608 7
24 8.0 8.0 0.30 26.0 26.0 2.0 2.0 SSF628 Y4
9 17 4.0 5.0 0.20 19.0 19.0 1.0 1.1 SSF689 7
20 6.0 6.0 0.30 23.0 23.0 1.5 1.5 SSF699 7
24 7.0 7.0 0.30 27.0 27.0 1.5 1.5 SSF609 7
26 8.0 8.0 0.30 28.0 28.0 2.0 2.0 SSF629 7
30 10.0 10.0 0.60 32.5 32.5 2.5 ZoriS) SSF639 7

FEREEH ERERATE £
o (rpm) i ; (kN) ) (2)
Limiting Speeds Basic Load Ratings Weight
=R | TI—REE bz Heabic) BRE B E 308117 —IJLRR

Sealed Grease Oil Cr Cor Open Shielded
2RS 36000 43000 1.605 0.710 3.61 4.45
2RS 36000 40000 2.240 0.910 8.26 8.30
2RS 34000 40000 3.300 1.370 13.30 13.40
2RS 28000 34000 3.350 1.430 > =
2RS 36000 40000 1.330 0.665 3.90 4.85
2RS 34000 38000 2.470 1.080 9.51 9.51
2RS 32000 34000 3.350 1.430 S =
2RS 28000 30000 4.550 1.970 = =
2RS 24000 = 4.650 2.070 = =

B36

STO

B37



X

i X S

B FURSHER

STO

STPFaPTHR - NETHR SUTWOSSREK FEITD STPFaVTWR - NETHR STWOBISREK FEHTD

Z1

AE MNE X T8 AR RNE X8
Bore Dia. STO NSK NMB NTN KOYO Outside Dia. X Width Bore Dia. STO NSK NVB NTN KOYO Outside Dia. X Width
d (mm) DXB d (mm) DXB
1 681 681 L-310 - 681 3x1.0 6 MR106 MR106 L-1060 676 ML6010 10 x 2.5
MR31 MR31 - - ML1003 3x1.5 MR126 MR126 L-1260 BC6-12 ML6012 12 x 3.0
691 691 R-410 - 691 4%x1.6 686 686 L-1360 686 686 13x 3.5
696 696 R-1560 696 696 15x 5.0
1.2 MR41X MR41X R-412 - ML1204 4x1.8 606 606 R-1760 606 606 17 % 6.0
1.5 681X 681X L-415 68/1.5 68/1.5 4x1.2 626 626 R-1960 626 626 19 x6.0
691X 691X R-515 69/1.5 69/1.5 5x 2.0 - - - - ML6019 19x8.0
601X 601X R-615 60/1.5 ML1506 6 x 2.5 636 636 - - 636 22x7.0
2 682 682 L-520 682 682 5x1.5 7 MR117 MR117 L-1170 677 ML7011 11 x 2.5
MR52 MR52 = BC2-5 ML2005 5% 2.0 MR137 MR137 L-1370 BC7-13 ML7013 13 x 3.0
692 692 R-620 692 692 6 %23 687 687 L-1470 687 687 14 x 3.5
MR62 MR62 R-620W52 BC2-6 ML2006 6 x 2.5 697 697 - 697 697 17 x 5.0
MR72 MR72 - BC2-7 ML2007 7 x 2.5 607 607 R-1970 607 607 19x6.0
602 602 R-720 602 602 7%x2.8 627 627 R-2270 627 627 22 x7.0
- - - - ML7022 22 x 8.0
2.5 682X 682X L-625 68/25 68/25 6x1.8 637 637 _ . 637 26 x 9.0
692X 692X R-725 69/2.5 69/2.5 7% 2.5
MR82X MR82X A BC2.5-8 ML2508/1B 8% 2.5 8 MR128 MR128 L-1280 678 ML8012 12 x 2.5
602X 602X R-825 60/2.5 ML2508 8x2.8 MR148 MR148 L-1480 BC8-14 ML8014 14 x 3.5
688 688 L-1680 688 688 16 x 4.0
683 683 L-730 683 683 7% 2.0 608 608 R-2280 608 608 22 x 7.0
693 693 R-830 693 693 8 x 3.0 638 638 _ _ 638 28 x 9.0
MR93 MR93 R-930Y52 BC3-9 - 9x 2.5
603 603 R-930 603 603 9x 3.0 9 689 689 L-1790 689 689 17 x 4.0
623 623 R-1030 623 623 10 x 4.0 699 699 L-2090 699 699 20 x 6.0
633 633 - - 633 13x 5.0 609 609 = 609 609 24 x 7.0
629 629 - 629 629 26 x 8.0
4 MR74 MR74 L-740 674 ML4007 7%x2.0 639 639 _ _ 639 30 x 10.0
MR84 MR84 -840 BC4-8 ML4008 8 x 2.0
684 684 1-940 684 684 9x2.5
MR104 MR104 L-1040 BC4-10 ML4010 10 x 3.0
694 694 R-1140 694 694 11 x 4.0
604 604 R-1240 604 604 12 x 4.0
624 624 R-1340 624 624 13 x 5.0
634 634 R-1640 634 634 16 x 5.0
5 MR85 MR85 -850 675 ML5008 8% 2.0
MR95 MR95 L-950 BC5-9 ML5009 9x2.5
MR105 MR105 L-1050 BC5-10 ML5010 10 x 3.0
685 685 L-1150 685 685 11 x 3.0
695 695 R-1350 695 695 13 x4.0
605 605 R-1450 605 605 14 x 5.0
625 625 R-1650 625 625 16 x 5.0
635 635 R-1950 635 635 19 x 6.0

Z2



Z3

:é-:-
-
X

STPFAPEHZ - INMERWZ

SHIFOSESIREK (Y—ILEE)

STPFATEHE - INETWHS

SHEFOESXREK (Y—IL )

STO

NE AR X 18
Bore Dia. STO NSK NMB NTN KOYO Outside Dia. X Width
d (mm) D X B1
1.2 MR41XZZ MR41XZZ - - - 4x2.5
1.5 681XZZ 681XZZ L-41577 W68/1.5ZZA W68/1.52Z 4x2.0
691XZ7Z 691XZZ R-5157Z7 W69/1.5ZZA W69/1.5Z2ZX 5% 2.6
601XZZ 601XzZZ R-6157Z W60/1.5ZZA WML1506ZZX 6 x 3.0
2 68277 682727 L-520zZ W682ZZA W682Z2ZX 5x2.3
MR5277 MR52z7 L-520ZZW52 WBC2-5ZZA WML2005z2z 5x%x2.5
69277 69277 R-620z2Z W692ZZA W69277 6 x 3.0
MR62ZZ MR62ZZ R-620ZZY52 - - 6% 2.5
MR72ZZ MR72zZ R-720ZZY03 - WML2007ZZX 7 x 3.0
60277 60277 R-720zZ W602ZZA W602Z2ZX 7 %x3.5
2.5 682X77Z 682XZZ L-62527 W68/2.5ZZA W68/2.527 6 x 2.6
692X77 692XZZ R-72577 W69/2.5ZZA W69/2.5727 7 %x 3.5
602XZZ 602Xz27Z R-82577 W60/2.5ZZA WML2508z2zX 8x4.0
3 MR63ZZ MR63ZZ L-630Z2Z WAG673ZZA WML3006ZZ 6x%x2.5
68327 68327 L-7302Z W683ZZA W6832Z 7 % 3.0
69377 69377 R-830ZZ W693Z2Z W693Z2Z 8x4.0
MR93z7 MR93zZ R-930Z2Y04 WBC3-9ZZA = 9x%x4.0
6032z 60327 R-930zz W603ZZA W603Z2ZX 9x5.0
6237272 623727 R-1030zZ 623272 6237272 10 x 4.0
633727 633727 = - 6337272 13 x 5.0
4 MR74Z7Z MR74ZZ L-740z2Z WA674ZZA WML4007Z2Z 7 %X 2.5
MR84z7 MR84Z7Z L-840zZ WBC4-82Z WML40082Z 8 x 3.0
68477 68477 L-9402Z W68477 W68477 9x%x4.0
MR104ZZ MR104ZZ L-1040Z2Z WBC4-10z2Z WML4010ZZ 10 x 4.0
69477 69477 R-1140ZZ 69477 69477 11 x4.0
60477 60477 R-1240zz 60477 60477 12x 4.0
624727 62477 R-1340zZ 624727 62477 13 x 5.0
634772 63477 R-1640ZZ 634772 634772 16 x 5.0
5 MR85ZZ MR85ZZ L-850ZZ WA675Z2Z2 WML50082Z 8% 2.5
MR95Z7Z7 MR95Z77 L-950zZ WBC5-9ZZA WML5009Z2Z 9x 3.0
MR105z2z MR105z2z L-1050Z2z WBC5-10z2Z WML5010Z2Z 10 x 4.0
MR115Z7 MR115ZZ L-1150Z72Y04 WBC5-11z2Z7 - 11 x4.0
68577 68577 L-1150Z2z W6852Z W685Z2Z 11 x 5.0
69577 69577 R-1350zz 69577 69577 13x4.0
6052z 605727 R-1450z2Z 6052z 6052z 14 x 5.0
62577 62577 R-1650ZZ 62577 62577 16 x 5.0
63577 63577 R-1950zZ 63577 63577 19 x 6.0
6 MR106ZZ MR106ZZ L-1060Z2Z WA676ZZ WML6010ZZ 10 x 3.0
MR126ZZ MR126ZZ L-1260Z2Z WBC6-127Z7 WML6012ZZ 12 x4.0
686727 68677 L-1360Z2Z W6862Z W6862Z2 13 x 5.0
69677 69627 R-1560ZZ 69677 69677 15 x 5.0

NE AR X I8
Bore Dia. STO NSK NMB NTN KOYO Outside Dia. X Width

d (mm) D X B1

6 60677 60677 R-17602Z 60677 60677 17 x6.0

62677 62677 R-19602Z 62677 62677 19 x6.0

- - - - ML6019Z7 19 x 8.0

63677 63677 - - 63677 22x7.0

7 MR11777 MR117727 L-1170ZZ WAG677ZZA WML7011Z7X 11 x 3.0

MR13777 MR13727 L-1370ZZ WBC7-13727 WML7013ZZ 13 x4.0

68777 68777 L-1470Z7 W68777 W68777 14 x 5.0

697772 69777 = 69777 697772 17 x 5.0

60727 60727 R-1970ZZ 60727 60727 19 x 6.0

627772 62777 R-22702Z7 627772 62777 22x7.0

= = = 3 ML7022Z27 22 x 8.0

63727 63727 = = 63727 26 x 9.0

8 MR128Z77 MR128z7 L-1280Z7 W678727 WML8012Z77Z 12 x 3.5

MR148ZZ MR148Z77 L-1480z7 WBC8-14z7 WML8014Z7Z 14 x 4.0

68877 68877 L-1680Z7 W68827 W68877 16 x 5.0

69827 69827 R-1980zZ 69827 69827 19 x 6.0

60827z 60827 R-22807Z 60827 60827 22x7.0

62877 62877 R-24802Z 62827 62877 24 x 8.0

63827 63827 = 63827 63827 28 x 9.0

9 68927 68977 L-1790ZZ W689ZZA W68977 17 x 5.0

69927 69977 L-2090ZZ 69927 69927 20 x 6.0

60927 60927 = 60927 60927 24 x 7.0

62927 62977 = 62927 62927 26 x 8.0

63927 63927 = = 63927 30 x 10.0

Z4



Z5

el ]

S"PFar

T#= - NERWZ

SHIOBESIREK (T3 ILBEHIE)

STO

R X DSVINE X 1B
NE Outside Dia. X
Bore Dia. STO NSK NMB NTN KOYO Flange Outside Dia. X Width

d (mm) DXD1XB
1 F681 F681 LF-310 FL681 F681 3x3.8x1.0
F691 F691 - FL691 F691 4x50x1.6

1.2 MF41X MF41X = FLBC1.2-4 = 4x48x1.8
1.5 F681X F681X LF-415 FL68/1.5 F68/1.5 4x50x1.2
F691X F691X RF-515 FL69/1.5 F69/1.5 5x6.5x%x2.0

F601X F601X RF-615 FL60/1.5 MLF1506 6x7.5x%x2.5

2 F682 F682 LF-520 FL682 F682 5x6.1 x1.5
MF52 MF52 = = MLF2005 5%x6.2x2.0

F692 F692 RF-620 FL692 F692 6x7.5x%x2.3

MF62 MF62 RF-620W52 FLBC2-6 MLF2006 6x7.2%x2.5

MF72 MF72 = = MLF2007 7x%x8.2x2.5

F602 F602 RF-720 FL602 F602 7x8.5x%x2.8

2.5 F682X F682X LF-625 FL68/2.5 F68/2.5 6x7.1x1.8
F692X F692X RF-725 FL69/2.5 F69/2.5 7x85x%x2.5

MF82X MF82X = FLBC2.5-8 MLF2508/1B 8x9.2x2.5

F602X F602X RF-825 FL60/2.5 MLF2508 8x9.5%x2.8

3 MF63 MF63 LF-630 FL673 MLF3006 6x7.2%x2.0
F683 F683 LF-730 FL683 F683 7x%x8.1x%x2.0
MF83 MF83 = FLBC3-8 MLF3008 8x9.2x2.5

F693 F693 RF-830 FL693 F693 8x9.5x3.0

MF93 MF93 = FLBC3-9 = 9x10.2x 2.5

F603 F603 RF-930 FL603 F603 9x10.5x% 3.0

F623 F623 RF-1030 FL623 F623 10 x 11.5 x 4.0

F633 F633 = = F633 13 x15.0x 5.0
4 MF74 MF74 LF-740 FL674 MLF4007 7x8.2x%x2.0
MF84 MF84 LF-840 FLBC4-8 MLF4008 8x9.2x2.0

F684 F684 LF-940 FL684 F684 9x10.3x2.5

MF104 MF104 LF-1040 FLBC4-10 MLF4010 10x11.2x 3.0

F694 F694 RF-1140 FL694 F694 11 x12.5%x4.0

F604 F604 RF-1240 FL604 F604 12x13.5%x4.0

F624 F624 RF-1340 FL624 F624 13 x15.0x 5.0

F634 F634 RF-1640 - F634 16 x 18.0 x 5.0

5 MF85 MF85 LF-850 FL675 MLF5008 8%x9.2x 2.0
MF95 MF95 LF-950 FLBC5-9 MLF5009 9x10.2x 2.5

MF105 MF105 LF-1050 FLBC5-10 MLF5010 10 x11.2 x 3.0

F685 F685 LF-1150 FL685 F685 11 x12.5x%x 3.0

F695 F695 RF-1350 FL695 F695 13 x15.0x 4.0

F605 F605 RF-1450 FL605 F605 14 x 16.0 x 5.0

F625 F625 RF-1650 FL625 F625 16 x 18.0 x 5.0

F635 F635 RF-1950 = F635 19 x 22.0 x 6.0

STPFAPTFHZ - NETHS SHEOBSHREX (D5 IIREBIL
WE X TSVIIME X 18
RE Outside Dia. X
Bore Dia. STO NSK NMB NTN KOYO Flange Outside Dia. X Width
d (mm) DXD1XB
6 MF106 MF106 LF-1060 FL676 MLF6010 10x11.2x 2.5
MF126 MF126 LF-1260 FLBC6-12 MLF6012 12 x13.2x 3.0
F686 F686 LF-1360 FL686 F686 13 x15.0x 3.5
F696 F696 RF-1560 FL696 F696 15x17.0x 5.0
F606 F606 RF-1760 FL606 F606 17 x19.0 x 6.0
F626 F626 RF-1960 FL626 F626 19 x 22.0 x 6.0
F636 F636 - - F636 22 x25.0x 7.0
7 MF117 MF117 LF-1170 FL677 MLF7011 11 x12.2x 2.5
MF137 MF137 LF-1370 FLBC7-13 MLF7013 13 x14.2 x 3.0
F687 F687 LF-1470 FL687 F687 14 x 16.0 x 3.5
F697 F697 = FL697 F697 17 x 19.0 x 5.0
F607 F607 RF-1970 = F607 19 x 22.0 x 6.0
F627 F627 RF-2270 = F627 22 x25.0x 7.0
F637 = = = F637 26 x 29.0 x 9.0
8 MF128 MF128 LF-1280 FL678 MLF8012 12 x13.2x2.5
MF148 MF148 LF-1480 FLBC8-14 MLF8014 14 x 15.6 x 3.5
F688 F688 LF-1680 FL688 F688 16 x 18.0 x 4.0
F698 F698 RF-1980 FL698 F698 19 x22.0x6.0
F608 F608 RF-2280 FL608 F608 22 x25.0x 7.0
F628 - - - - 24 x 26.0 x 8.0
9 F689 F689 LF-1790 FL689 F689 17 x 19.0 x 4.0
F699 F699 = = F699 20 x 23.0 x 6.0
F609 5 = = F609 24 x 27.0x 7.0
F629 = = = = 26 x 28.0 x 8.0
F639 = = = = 30 x 32.5 x 10.0

Z6



Z17

L

el ]

X

STPFAPEHE - INMERWZ

SHEFUOSESIREK (OSVYINY—ILERD

STPFAVEHE - INETWHS

STO

SHEOESIREK (OSYINMY—ILED

AE X DSVIHNE X 1B

AE X DSUIHMME X 18

AE Outside Dia. X
Bore Dia. STO NSK NMB NTN KOYO Flange Outside Dia. X Width
d (mm) D X D2 X B1
1.5 F681XZZ F681XZZ LF-41577 FLW68/1.5ZZA WF68/1.52Z 4 x5.0x2.0
F691XZZ F691XZZ RF-515z77 FLW69/1.5ZZA WF69/1.52Z 5x6.5%x2.6
F601XZZ F601XZZ RF-615z2Z7 FLW60/1.5ZZA WMLF1506Z2Z 6x7.5%x3.0
2 F68277 F68277 LF-520z2Z7 FLW682ZZA WF6827Z7 5x6.1x2.3
MF5277 MF5277 = = WMLF2005Z2Z 5x6.2%x2.5
F69277 F69277 RF-620Z2Z FLW692ZZA WF69277 6 x7.5%x3.0
= = = = WMLF2006Z2Z 6x7.2x3.0
MF7277 MF7227 = = WMLF2007Z2Z 7 x8.2%x 3.0
F60272Z7 F602Z2Z RF-720z2Z FLW602ZZA WF6022Z2 7 x 8.5 % 3.5
2.5 F682XZZ F682XZZ LF-62577 FLW68/2.5ZZA WF68/2.52Z 6x7.1%x2.6
F692XZZ F692XZZ RF-725z27 FLW69/2.5ZZA WF69/2.52ZX 7x8.5x%x3.5
F602XZZ F602XZZ RF-82577 FLW60/2.5ZZA WMLF2508Z2Z 8x9.5x4.0
3 MF63Z2Z MF63Z2Z LF-630z2z FLWAG673ZZA WMLF3006Z2Z 6x7.2%x2.5
F6832Z F68372Z LF-730Z2z2 FLW683ZZA WF6832Z 7 x8.1x3.0
F69377 F69377 RF-830z2Z FLW6937Z7 WF6937272 8x9.5x4.0
MF9377 MF93zZ7 = FLAWBC3-9ZZA = 9x10.6 x4.0
F6032Z F603Z2Z RF-930zZ FLW603ZZA WF6032Z2 9x10.5x5.0
F623727 F62372Z RF-1030zZ FL623ZZA F623727 10 x 11.5 x 4.0
F633Z27 F633727 = = F633Z27 13 x15x%x 5.0
4 MF74zZ7 MF74zZ7 LF-740z2z FLWA674ZZA WMLF40072ZX 7x8.2x2.5
MF84z7 MF84z7 LF-840Z2z FLWBC4-82Z WMLF40082Z7 8x9.2x3.0
F68477 F68477 LF-940Z2z FLW68427Z WF6842Z 9x10.3x4.0
MF104zZZ | MF104zZ LF-1040ZZ | FLAWBC4-10ZZ WMLF4010Z2Z 10x 11.6 x4.0
F69477 F69477 RF-1140zZ FL694ZZ F694z77 11 x12.5%x4.0
F604Z27 F60427 RF-1240z27 FL604Z2Z F60427 12 x13.5x4.0
F62477 F62477 RF-13402Z7 FL6247Z F62477 13 x15.0x 5.0
F63477 F63477 RF-16402Z - F63477 16 x 18.0 x 5.0
5 MF85zZ7 MF85z7 LF-850Z2z FLWA675Z27 WMLF50082ZX 8x9.2x25
MF95z7 MF95z7 LF-950Zz FLWBC5-9Z2ZA | WMLF5009Z2ZzX 9x10.2x 3.0
MF105Z2Z | MF105zz LF-1050ZZ | FLAWBC5-10ZZ | WMLF5010z2Z 10 x 11.6 x 4.0
F68577 F685727 LF-11502Z7 FLW68572Z7 WF685727 11 x 12.5x 5.0
F69577 F69577 RF-135027 = F69577 13 x 15.0 x 4.0
F605Z2Z7 F605Z2Z7 RF-1450z27 FL605ZZ F605Z2Z7 14 x 16.0 x 5.0
F62577 F62577 RF-16502Z FL625Z7Z F62577 16 x 18.0 x 5.0
F63572Z7 F635727 RF-1950z2Z7 = F635727 19 x 22.0 x 6.0
6 MF106ZZ | MF106zZ LF-1060z2Z FLWA676Z2Z WMLF60102ZX 10 x11.2x 3.0
MF126Z7Z | MF126Z7Z LF-1260Z2Z | FLAWBC6-127Z7 WMLF60127Z7 12 x13.6 x4.0
F686Z27 F686Z27 LF-13602Z FLW686ZZA WF68672Z 13 x15.0x 5.0
F696Z77 F696Z27 RF-15602Z FL696ZZ F69672Z7 15x17.0x 5.0
F606Z2Z F606Z2Z RF-1760Z2Z FL606ZZ F606Z2Z 17 x 19.0 x 6.0
F626Z2Z F6267Z RF-1960z2Z FL626ZZ F6267Z7 19 x 22.0 x 6.0

AR Outside Dia. X
Bore Dia. STO NSK NMB NTN KOYO Flange Outside Dia. X Width
d (mm) D X D2 X B1
6 F636Z27 F636727 - - F636Z27 22%x25.0x7.0
7 MF117727 MF11777 LF-1170Z27 FLWAG677ZZA WMLF7011Z7ZX 11 x 12.2 x 3.0
MF1377272 MF137727 LF-1370ZZ | FLAWBC7-13ZZA | WMLF7013Z7Z 13 x14.6 x4.0
F6872Z F687ZZ | LF-1470ZZ FLW6872Z WF6872Z 14 x 16.0 x 5.0
F697727 F69777 - FL697ZZ F69772Z 17 x 19.0 x 5.0
F607727 F607272 RF-197077 FLW6072Z2 F607727 19 x 22.0 X 6.0
F627727 F627727 RF-227077 FL627727 F627727 22x25.0x7.0
F637727 - - - F637727 26 X 29.0 X 9.0
8 MF1287272 MF12877 LF-128027 FLAWG678Z2Z WMLF801277X 12 x13.6 x3.5
MF1487Z | MF148ZZ | LF-1480ZZ | FLWBC8-14ZZ | WMLF80147Z 14 x 15.6 x 4.0
F688727 F688727 LF-1680Z2Z FLW68872Z WF6882Z 16 x 18.0 x 5.0
F69877 F69877 - FL698ZZ F69877 19 x22.0x6.0
F608727 F608727 RF-228077 FL608ZZ F608727 22x25.0x7.0
F628727 - - - - 24 x 26.0 x 8.0
9 F68977 F68977 LF-1790Z2Z FLW68972Z7 WF68977 17 x 19.0 x 5.0
F69977 F69977 - - F69977 20 x 23.0 x 6.0
F609Z2Z = = = F609Z2Z 24 x 27.0x 7.0
F62977 - - - = 26 x 28.0 x 8.0
F63977 - - - - 30 x 32.5 x10.0

Z8



